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Instractinns: Theor-v p{ipel rvill cor"r-cist o1'l'iitty multrple choice quesliiins ol' I n-rark *ach.
j\ole; All questir:ns are conrpulsorl'" Tick thc corr*ct *ptiott.

$ I " Th* x(il :in!*gi ot' l.E * is

1. Long lilb
2. i:ast on-olJ's*,ilching
l. Lou, opcratrng voltauc
4. All ol abovc

Q2. 'Ihe knec volt:tgt of a crvstal diodc is appr*ximatr:11' equal to
l. applied voltage
2. breakdorllr voltage
3. tblrvaril vcltage
4. barrier pot*ntial

Q3. 14'hen the gr*ph trctwecn cilrrenf through and voltagc acrrlss * dcvice is a straigltt
!ine, llre device is referred to :rs

t. linc;tL
2. active
3. nonlitroat'
i. passi\ c

Q4. trY}en the diode current is large. the bias is
1. {brrvarrl
2. iuvemc
3. Fool'
4.,:*\rerst:

Q5. The m*ximum effi*iency of :r haltlrvnl'e reefifier is
l" 40.6 %
2. 91.2 $lt

3. 5l) t'k

4. 25%
QS. I'h* m*st'wiciel,r- uscd r*ctifier is

I " lr,'rlf-rvar,* r'eclilier
2. cel:t::*-tap firll-rvave rer:tifi el
-x. bri<ig* till-rvnve rectil'i*r
4. ncln,: of thc aibor,('

Q7. T'he lbrlvard volfage drop :rc:"iiss ii:ilico+ diride is about
| ,\\1

.a_. I v

3. t0 v
4 0.7 \1

Q{1. {f the rloping l*v*! r:f a trystxl di*d* is ixrcr*aserl" thr Erreuktlo* * r'+il:rge
j . renrilins llre sarlre
2. is incleaserl
3. is decreas*ci
4. non* ol'the above

CoU



#u). .4 crY${reE dioqi* i:* rxted *es

i arl antplifir,r
2. a rectifli*r
3. *r: *sciliiltr:r
jl. ii Vrllfig* r'cgulalor

QX*.:{* i**'atrtry*$.';x} dl*dt is rl*e which h*fu*vss :is a perf'ect rvhcn f"*rrvaild
hills*q{"

i . corr<lrrr:t*i
l. iusulator
3. r'esislance ruatcriiil
4. l<ine *f'the above

QX t " 
'!'i:* riirple fitet*r *f * ii*lf-wave reetifi*r is

l. 2
j.. 1.2\
'? 'r(
-J.

4. 0.4S

Q12. Ii:ere is * n*cd of tr*ns{rirnrer fbr
i. half-rvave rectifie:"
2. celitre-tap fill-lvave recli{'ier
3. bridge lull-u,avs rectiller
4. note ol'the abcve

Ql3. A:mrlrr rli*eie is used *s
I. an a*:plilier
2. a v*ltag* reguli:tor
..\. ;i r",",{ttli*t
4. a rnultivilrrirtor

Qtr4. 'l'he m*l$ wideh,uscd rertifier is
1 . irail'-ll,al.* l'cc1ifi cr
2. cc*tre-t;,r;: l":l l-u,llve rccti f'ir:r

"1. l:::idge fitli-r.vave rectiile::
,1. r:*ne ot'the :rll*r.c

q15" h tr;rnsisior h*s
t . r)l1L l)t1 ,jLrrtct iult
2. two prl.iunctious
3. lhre e pn .jurrcticurs
4. luur pn lunctioirs

Ql6.'the number *f clepletion l*vers in a transistor is
t. li:ur
:. tirree

-1' 011c

4. t1v0

Q 1?. '$'hc bas* oi' a fr**i*isfrr is 
" " ". ". "....... ri*pcri

I " l:*avilrv
2. mocleratelv
3. lightl,v
.4" none ol'the iibt:r,e

Qtrfi. The ei*ment thilt has firc irigg*st size i* il transistrir is
1. coll*cror
2. basc

C-,rte/*3
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3. rlliitler
4, collcctor-basc-junction

Qt9. ln :t pilp trlnsistor, the current e*rrriers *re
1. acceptor ions
2. donor ions
3. fiee r-lectlous
4. lrole s

Q20. Photodiode is uscd in thc detection of
I ^ visihlc light
2. invisibl* light
3. no light
4. botl: r,isible ancl invisible light

Q2I. A transistor is t ............... operated device
I curterrt
2. volrage

"i. both l,oltage and current
,:1. :rone slf the above

Q22. In * npn transistor, the nrinurity c:rrriers al'+
L llee el*ctr*ns
l. holes
3. douor i*ns
4. rcccptrlr iorts

Q?3. Which ;rrocess o1'Iilcctron-hnlc ;:air is responsihle leir ernitting rrf ligirt?

Q24. ln a transistor, the base *urrenf is al:out *t'*n:itter e*rrent
1. 259/o

2 2(\:'"'

3. 35 -9,o

-7 <o,1.

Q25, At the hase-emitter junctions of * transistor, <illr iinds
I" areversebias
2. a rvi<le <lepletion laver
3. lor.v resistance
4. none r.r{ dr* ah*r,c

Q2{r. 'l.h* illput irnprdanee nf a tr*nsisfor is
1. high
2. lou,

"). ver1"high
4. aimost zero

Q27. &'Iost of the majority carriers froru the emitter
1. r'scornbiile ir: the bass
2, re,-.ombinc in the eurrtter
3. pass tlrrough fte bass region to lhc collcr:tor
4. nonc ol'thc lbovc

Q28. The currunt Iu is
l" electr*rr current
2. hole curreul

t. Generation
2. Recomtrilation
3. llifTusicn
L h,{ove*:ent

uo 6tf b
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i (h)lli)r iEln Currcut I

.t. JCCCpI$r i{}n CurrL:nl

Q?9. {n * tr*nsist*r
l. {.-.'" 1r.* Ir, i
:' I,' = I. -.1- 1,.

j. I, = l, -. 1,,

4' Iu:I{'+l'} \

Q-}t). Ttre most roiiil::r:*!3' used semicondurlor is
I. (iet'tnaniurn

2. Silic*n
3. {larbi:n
4. Sulplur

Q3tr. lVh*ai il pe*t*r,alent in:g:urit,v is added fo a pure semiconductor, it trecomes
l. A* illsul*t*t:
2. An intri*sic ssmic*t:<inctor
3. p-type s*mic*nductor
jl rl-1vrr,r settiiconducror

Q32. ztddition of pentrvnlernt imp::rity fo * semiconduet*r creates meny
1. Free electrons
l_ I l{}lct
i. Valencs: electr*:ls

"$. IJounri eleclro*s

Q33. Which of the fbllowing is the most couductive element?
I Cor:per
2.Iron
3. Silver
4. Rubber

Q34. A material that has zero resistance is called
l. Insulator
2. Condrictor
3. Superconductor
4. semiconductor

Q35. lYhy is copper a preferred choice in makiug electrical wires?
1. Copper is a good conductor of electricity
2. Poor conductors of electricity
3. Insulators
4. Superconductors

Q36. Which among the follorving is not an insulator?
l. Wool
2. Plastic
3. Silver
4. Papc'r

Q37. lYhat is the inverse of resistance callecl?
1. lnductarce
2. Conductance
3. Resistivity
4. permittivity

Q38. The energy gap is maximum in
l. Clondnctors
2. Semiconductors

0^^t4 
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i. Insulators
4. Superconductors

Q39. Conductors are materials that allorv
L Allow the f.low of heat
2. Does not allorv heat to flor.v
3. Allows cold to florv
4. Stops cold fi'om passing through

Q40. Good conductors have many loosely bound
l. Atorns
2. Protons
3. Molecules
4. Electrons

Q41. The resistance of the conductor is directly proportional to
1. Length
2. Area of cross-section
3. Temperature
4. resistivity

Q42. With the increase in temperature the resistance of semiconductors
1. I)ecreases
2. Increases
3. Remains constant
4. Initially increases and then clecreases

Q43. Peak fnverse voltage of a bridge rectifier is
I \/

2.2Y,,,
3.4V,.
4. None of these

Q44. Frequency of DC signal is
l. Infinity
2. Zero
3. 60IIz
4. None of these

Q45. ln center tap full wave rectifier
l. four dicldes are used
2. one diode is used
3. two diodes are used
4. none of thesc

Q46. 'l*he e*llcctol"*baser junctian in a transistor has
l. {bnvar"d bias a1 all timcs
2. r*verse bias ai *il i:::"1"..q

J. lorv resistance
4. none of the iLbove

Q.17" Setn's eurrent rctio is
L 1( /1,,

2. r,.fi,,

3 ' 1',,l1,'

4' I"ll'''
Q4{1. S'lost of lhe rlectrcns in thc hasc o*'nn l{PN transisftl;'*'lolr.

l. or:t of tl'le bas* ieactr

2. into the collectur

tloblf ,4 h^M--6
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3. i::to the enritie:: i

.1. irlto th* I:ase suppiy

Q€$. tn * transist*r, collee t*r cur:rent is e*ntreileri by
1. coll*ct*r rroltagc i
?. bal;* cutrr:t'tt
t" r"<:llc'tol' l'usistrrncr:
.,+. all olth* ai:*v*

QS{i. Thc cil+..;t **::r"r::-3r*lv used transist*r is
l " corllmorl e'r:ritter
2. c*mryion llass
3. i-ronu)lrlll r-.oilector
zl. ::one ol'th* al-lelvc)

)tob7/4,


